

Agenda Item Memorandum

TO:	City Commission of the City of Clewiston
FROM:	Lynne Mila, Director of Operations
VIA:	Danny Williams, City Manager
DATE:	September 15, 2025
SUBJECT:	Consideration of approval of Resolution 2025-45

Background:

Resolution 2025-45 authorizes Changer Order Sixteen and approves the final Application for Payment number Twenty One on behalf of Zep Construction, Inc. for the Bridge over C-21 Canal project.

The total contract sum is \$4,739,488, and the balance owed with retainage is \$129,263.93.

Recommendation:

Staff recommends approval of Resolution 2025-45

Attachments:

- 1. Final Pay Application Twenty One
- 2. Change Order Sixteen
- **3.** Resolution 2025-45

CHANGE ORDER

					No.	16
DATE OF ISSUANCE	September 9, 2025		EFFECTIVE (DATE .		
CONTRACTOR Zep C Contract Bridge Project: Bridge	Over C-21 Canal Over C-21 Canal - FF					
OWNER'S Contract No.:	GILOU	COI	NTRACTOR's Cont	ract No.:		
	\$ <u>44,697.92</u> to	o contract.				
Reason for Change Ordwork. In addition, OWNEF Canal. CONTRACTOR's p	R requested additional	bridge joint 1	from the Original C treatments to impro	Contract a ove durab	is well as previous Cha ility of the bridge ove	inge Order r the C-21
Cost proposal submitted I	Zep Construction	on, Inc. to p	erform the above-m	entioned	work.	11
	CONTRACT PRICE:		СНА	NGE IN	CONTRACT TIMES:	
Original Contract Price \$ 4,151,578.37			Original Contract Substantial Cor Ready for final	mpletion:		
Net Increase from previous No. 01 to 1			Net Change from No. 15 : Substantial Cor Ready for final	npletion:	572 572	01 to
Contract Price prior to th	is Change Order:		Contract Times pr Substantial Con Ready for final	npletion:	1053	
Net increase (decrease) of \$ 44,697.92	this Change Order:		Net increase (decr Substantial Con Ready for final	npletion:	s Change Order:	
Contract Price with all app	roved Change Orders:		Contract Times wi Substantial Con Ready for final p	npletion:	roved Change Order: 1145 1175 (days or dates)	
RECOMMENDED: ZEP CONSTRUCTI By: CONTRACTOR (Authorized Signature) Doug Hendrickson, Engin	ON, JINC.	CITY OF CONNER (Authorized Single Danny William City Manager		Ву: _	OVED: CITY OF CLEWISTO OWNER (Authorized Signature) James Pittman, City Mayor	
Date: 9/10/25	Date:			Date:		

EXHIBIT A

Change Order # 16

Over and Underruns from Original Contract Work and Previous change Orders and Additional Bridge Joint Treatments

Over and Under Runs form Original Contract Work (+/-)

Activity ID	Activity Description	Unit	Over / Under Run	Unit Price	Total
104 10 3	SEDIMENT BARRIER (STAKED SILT FENCE) ADD	LF	160	\$2,10	\$336,00
160 4	STABILIZATION, TYPE 8 DEDUCT	SY	-957	\$11.35	-\$10,863.09
285 706	OPTIONAL BASE GROUP 8 (8") (LIMEROCK)	SY	-755	\$10,76	-\$8,124.66
334 1 13	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C (3")	TN	35.58	\$231,90	\$8,251.00
337 7 83	ASPHALTIC CONCRETE FRICTION COURSE, TRAFFIC C, FC12.5, PG 76-22 (1.5")	TN	14.45	\$266.54	\$3,851.50
339-1	MISCELLANEOUS ASPHALT PAVEMENT (GUARDRAIL) 2" THICK	TN	0.51	\$730.26	\$372.43
430 175 118	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 18", S/CD	LF	8	\$89,64	\$717.12
430 982 125	MITERED END SECTION, OPTIONAL ROUND, 18" CD	EA	2	\$2,152,00	\$4,304.00
530 3 4	RIPRAP, RUBBLE, F&I, DITCH LINING (1.5' THICK)	TN	53,77	\$179.28	\$9,639.89
530 5 11	GABION, MATTRESS LESS THAN 1 FOOT THINCKNESS (MARINE MATTRESS)	SY	40	\$231.50	\$9,260.00
570 1 2	PERFORMANCE TURF SOD	SY	-1.086	\$2.93	-\$3,182.33
450 2 36	FLORIDA-I 38 BEAM (80'-8" LONG)	LF	-1.614	\$357.00	-\$578.07
530 3 4	RIPRAP - ROCK RUBBLE	TN	124.83	\$90,00	\$11,234.70
530 74	BEDDING STONE	TN	-174.2	\$96,00	-\$16,723,20
548 12	RETAINING WALL SYSTEM, PERMANENT (MSE WALL)	SF	485.83	\$45.25	\$21,983,81

Over and Under Runs CO#12 Work (+/-)

Activity ID	Activity Description	Unit	Over / Under Run	Unit Price	Total
	Optional Parking Lot Work & Striping Work				
	Staked Six Fence	LF	-400	\$3.69	-\$1,436.00
	As-Builts	LS	-1	\$2,390,00	-\$2,390.00
	Thermoplastic,Std.,White,24" Stop Bar	LF	-15	\$10.76	-\$161.40
	Thermoplastic, Std., White, 12" Crosswalk	LF	-50	\$5,38	-\$269.00
	Thermoplastic, Std., White, 12" Yield Bar	LF	-14	\$14.34	-\$200,76
	Removal of Existing Striping (If Requiredf)	TRIP	-1	\$2,478.00	-\$2,478.00
	inlet Protection System	EA	-1	\$359.00	-\$359.00
	Excavation	CY	-35.5	\$21.55	-\$765,03
	Stabilization, Type B	SY	-48	\$15.12	-\$695,52
	Limerock, 8"	SY	-46	\$14.20	-\$653.20
	Structural Asphalt, 3", SP-12.5	SY	147.870	\$52.88	\$7,819.37

Additional Bridge Joint Treatments

	Y				
Activity ID	Activity Description	Unit	Over / Under Run	Unit Price	Total
458-1-11	BRIDGE DECK EXPANSION JOINT - NEW CONSTRUCTION - F&I POURED JOINT WITH BACKER ROD	LF	419	\$32.81	\$13,747,39
458-1-12	SEAL CRACKS IN ASPHALT	LF	94	\$21.94	\$2 057 97

Final Change Order #16 \$44,697.92

APPLICATION AND CERTIFICATION FOR PAYMENT TO GC: City of Clewiston, FL 33440 PROJECT: Bridge Over C- 115 West Ventura Avenue FDOT Contract Clewiston, FL 33440 Financial Project FROM CONTRACTOR: Zep Construction, Inc.	PROJECT: Bridge Over C-21 Canal APP FDOT Contract No. G1L00 Financial Project No. 445843-1-54-01 PER	AIA DOCUMENT G702 nal APPLICATION NO 21 - FINAL 31L00 15843-1-54-01 PERIOD TO: FINAL	Distribution to: OWNER X ENGINEER CONTRACTOR
7	City of Clewiston, FL	Zep Project #: 393 CONTRACT DATE 6/23/2022	CONTRACTOR NO.: 59-1448314 FDOT Vendor #: F591448314001 FL GC License #: CGC051862
OR'S APPLICATI or payment, as shown below, in IA Document G703, is attache	ON FOR PAYMENT connection with the Contract.	certifies that to the Vork covered by this th the Contract Doc which previous Cer Owner, and that cu	best of the Contractor's knowledge, Application for Payment has been ments, that all amounts have been paid by thrates for Payment were issued and the payment shown herein is now due.
1. ORIGINAL CONTRACT SUM 2. Net change by Change Orders 3. CONTRACT SUM TO DATE (Line 1 ± 2) 4. TOTAL COMPLETED & STORED TO DATE (Column G on G703) 5. RETANAGE.	\$ 4,151,578.37 \$ 587,910.08 \$ 4,739,488.45 \$ 4,739,488.45		Date: 9/10/25
		State of: State of: Subscribed and swom to before pie this Notary Public: My Commission expires: 2/3/2/20	day of SEPT 2025
Total in Column I of G703) 6. TOTAL EARNED LESS RETAINAGE (Line 4 Less Line 5 Total) 7. LESS PREVIOUS CERTIFICATES FOR PAYMENT (Line 6 from prior Certificate) 8. CURRENT PAYMENT DUE	\$ 0.00 \$ 4,739,488.45 \$ 4,610,224.52 \$ 129,263.93	ENGINEER'S CERTIFICATE FOR PAYMENT In accordance with the Contract Documents, based on on-site observations and the data comprising the application, the Engineer certifies to the Owner that to the best of the Engineer's knowledge, information and belief the Work has progressed as indicated, the quality of the Work is in accordance with the Contract Documents, and the Contractor is entitled to payment of the AMOUNT CERTIFIED.	FOR PAYMENT ed on on-site observations and the data sto the Owner that to the best of the e Work has progressed as indicated, Contract Documents, and the Contractor IED.
(Line 3 less Line 6)		AMOUNT CERTIFIED	129,263.93
CHANGE ORDER SUMMARY Total changes approved in previous months by Owner	ADDITIONS DEDUCTIONS \$587,024.64 \$43,812.48	(Attach explanation if amount certified differs from the amount applied. Initial all figures on this Application and onthe Continuation Sheet that are changed to conform with the amount certified ENGINEER:	(Attach explanation if amount certified differs from the amount applied. Initial all figures on this Application and onthe Continuation Sheet that are changed to conform with the amount certified.) ENGINEER:
Total approved this Month		By: Juan Bolivar, PE	Date: 9/10/25
NET CHANGES by Change Order	\$587,910.08	contractor named herein, Issuance, payments and acceptance of payment are without prejudice to any rights of the Owner or Contractor under this Contract.	certified is payable only to me acceptance of payment are without runder this Contract.

. 67100

7802 Jean Bivd.
Fort Myers, FL 33912
Fhore: 239-267-7907
Fau: 239-267-7907
FPIOT Fin # 445843-1-4-4-11, Contract No. G1L/
DESCRIPTION POST SIGN, FURNISH & MISTALL (LESS THAN 12 SP)
POST SIGN, FURNISH & MISTALL (12-20 SP)
POST SIGN, FURNISH A MISTALL (12-20 SP) Road Work 4 - Z C CHAMIN \$1,770.00 \$1,770.00 \$1,770.00 \$1,770.00 \$113.64 \$112.56 \$113.46 \$1,152.00 \$2,152.00 \$131.46 \$39.44 \$39.44 \$39.44 \$39.44 \$39.44 \$39.44 \$39.44 \$39.44 \$39.46 \$39.60 \$179.28 \$2,700.00 \$179.28 \$2,700.00 \$2,700.00 \$2,700.00 \$2,700.00 \$2,700.00 \$2,700.00 \$2,700.00 \$3,700.0 CONTRACT UNIT PRICE \$200,288.00 \$17,087.00 \$4,453.00 \$4,453.00 \$17,887.00 \$4,453.00 \$128,463.00 \$128,643.00 \$128,643.00 \$128,643.00 \$128,643.00 \$1,280.00 \$1,280.00 \$1,190.00 \$1 TOTAL 208,000000 1,000000 18538.88 70947 746 100 4624 4972.9 790 2949.92 1414 768.59 380.45 35.51 3.00 INSTALLED QUANTITIES ESTRATE 0.000
-53.770
-40.000
0.0000
0.00000
0.00000
0.00000
0.00000
0.00000
0.00000
0.00000
0.0000
0.0000
0.0000
0.0000
0.0000
0.0000 TODATE 1,0000 1,0000 250,000 9,000 1, PREVIOUS 7,236,500 1,236,500 1,236,500 1,245,000 INSTALLED AMOUNTS SIMATE TOTAL 7,000,380 7,000,800 7,000,800 7,000,800 6,450,000 6,450,000 6,960,000 6,960,000 6,960,000 6,960,000 6,960,000 6,960,000 7,177,000 STORED (NLC With Installed Amounts) TOTAL
COMPLETED &
STORED
TO DATE 100.00% PERCENT (%)
COMPLETE BALANCE TO FINISH RETAINAGE
1% - contract
10% - C.O's

	Onthe	SCOOL ST	00.002,0		O. 200.00	200	0,200,000		0.000		200	1	201		LIGHTING CONDUCTORS, EST, INSULATED NO NA NO A	948 4 49
	90.00	WOO.001	2,102,00		20200	0.00	5 250 00	1 000	0.000	- 8	95.288.00		4	-	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	841 2 12
					2	3	2 46200	3	200	ŝ.	2 1/2 00	501.60	3	-	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	839 2 1
	\$0.00	100.00%	1,614,00		1,614.00	0,00	1,614.00	1.000	0.000		\$1,814.00	\$1,614.00		AS.	PURCHASED BY CONTRACTOR FROM POWER COMPANY	539 1 112
	\$0.00	100.00%	10,045.00		10,045.00	0.00	10,046.00	7,000	0.000	7	\$10,045.00	\$1,435.00	7	1	POUL & SPUICE BOX, F6I, 17 X 30 COVER BIZE	VII 7.000
	\$0.00	100.00%	7,028.07		7,028.07	0.00	7,028.07	147.000	0.000	147	7,028.07	L	147	L	CONDUIT, FURNISH & INSTALL, BRIDGE MOUNT	012000
	\$0.00	100.00%	9.768.00		9,768.00	0.00	9,768,00	480,000	0.000	480	\$9,788.00	\$20.35	480	5	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	30211
															Lighting	
,	10.00	-	2,000,000,11		21 0000 0000		1. At the beam when							1		
500	200		2 3.48 450 44		2 348 450 11	-15 919 24	2 362 369 34				\$2,348,450,10				Structures Work Total:	
	\$0.00	100.00%	780.00		780,00	0.00	/80.00	0.000	0.000	3	9700.00	9700,00		5	A DOLLAR A MANAGEMENT OF THE STATE OF THE ST	
	SU.UC	WOO.001	18,144,00		10, 144,00	0,00	10, 144,00	0007101	0.000	7101	200.00		2	n c	JUNCTION BOX EMBEDDED	635 3 13
	90.00	9600.001	00,080,021		10,000,00	0.00	10 144 00	1513 000	000000	2000	\$19.144.00	ı	1517	T	CONDUIT, EMBEDDED	210
	90.00	200,000	00,000,000		40,00,00	0.00	126,000,00	360,000	0,00000	T Control	\$125,599,00	\$346.00	383		CONCRETE TRAFFIC RAILING BARRIER WITH JUNCTION SUAB, 36" SIN	52187
	90.00	100.000	149 654 00		149 864 00	0 00	148 554 00	397	000000	303	\$148.554.00		383	7	CONCRETE TRAFFIC RAILING BARRIER WITH JUNCTION SLAB, 32" VE	521 6 3
	813	Section Cons	28 516 65		28 516 65	000	28 518 65	3354,900	0.000	2354 9	\$29,516,66		3,354.90	CY	EXCAVATION	120 1
	8000	100.00%	90.291.60		90.291.60	0.00	90,291.60	3224.700	0,000	3224.7	\$90,291.60	\$28.00	3,224.70	CY	EMBANKMENT	0
	10.03	100.00%	649.740.23		649 740 23	-21,983,81	671,724.04	14358,900	-485,8300	14844.73	\$849,740.23		14,358.80	SF.	RETAINING WALL SYSTEM, PERMANENT (MSE WALL)	548 12
															ROADWAY	
	80.00	100.00%	4.394.00		4,394.00	0.00	4,394.00	338,0000	0.000	338.00	\$4,394.00	L	338	NΒ	BRIDGE FLOOR GROOVING	
	\$0.00	100.00%	27,027.84		27,027.84	18,723,20	10,304.64	281.5400	174,200	107.34	\$27,027.84		281 54	Į,	BEDDING STONE	530 /4
	\$0.00	100,00%	76,016,70		76,018,70	-11,234,70	87,251.40	844,6300	-124.830	909.46	\$76,016,70		844.83	ī	KIPKAP - NOCK RUBBLE	03034
	\$0.00	100.00%	14,100.00		14, 100,00	0.00	14,100.00	564,0000	0.000	584	\$14,100.00	\$25.00	564	ç	a rec contour	100001
	\$0.00	100.00%	26,167.50		28, 187.50	0.00	28,167.50	20934.0000	0.000	20934	\$28,187.50	l	70,834	CBO	DEST CHOSE OF THE	100000000000000000000000000000000000000
	\$0.00	100,00%	82,258.00		82,256.00	0.00	82,250,00	124.0000	0.000	124	90,000,286	ľ	120	2	DEINEDBOND STREET	١
														ď٩		100 3 10
	\$0.00	100.00%	2,686.41		2,695,41	0.00	2,085.41	DOMO:0661	0.0000	1998.6	92,080.41	31.30	1,880,00	can I	VINCOND OFFICE	1
	\$0.00	100.00%	14,456.00		14,456.00	0.00	14,456.00	27.8000	0.000	27,8	\$14,456.00	1	27.8	3 5	DEINEODONNO CORREILE	1004
												ļ	2	-	A TOO II CONDUCTE	2
	\$0.00	100.00%	158,780.00		158,780.00	0.00	158,780.00	1280,0000	0.000	1280	\$158,780.00		1,260	ç		0 00
	\$0.00	100.00%	55,440.00		55,440.00	0.00	55,440.00	240,0000	0.000	240,00	\$65,440.00	\$231.00	240	5	TO SQUAKE X 95-0" HINIMUM (TEST PILE - ABUTMENT)	400 JAG 3
												1		-	ABUTMENT	
	\$0.00	100.00%	15,471.15		15,471,15	0.00	15,471.15	10314,1000	0.000	10314,1	\$15,471.15	\$1.50	10,314,10	LBS	REINFORCING STEEL	415 1 5
	\$0.00	100.00%	67,448.00		67,448.00	0.00	67,446.00	54,0000	0.000	54	\$67,446.00	ŏ		1	BRIDGE SUBSTRUCTURE	400-4-5
														TURE	SUBSTRUCTURE	
	\$0.00	100.00%	8,180.00		8,160.00	0.00	6,160.00	98,000	0.000	8	\$8,160.00	\$85.00	88	5	POURED JOINT WITH BACKER ROD	158-1-11
	90,00	00,000	5,508.45		02.000.00	0.00	0,000.00	0.000	0.000	0,00	40,000,000	400000		1	BRIDGE DECK EXPANSION JOINT - NEW CONSTRUCTION - FAI	
	8	200	20 003 0		36 063 0	000	36 063 0	7.050	000	201100	30 570 25	\$2 415 00	-+-	CH CH	COMPOSITE NEOPRENE BEARING PADS	400 147
	\$0.00	100.00%	41,397,88		41,387,88	0.00	41,387.88	33110.300	0.000		\$41,387,88	\$1.25	33,110.30	LBS	REINFORCING STEEL FOR BRIDGE DECK INCLUDING THICKENED	415 1 4
	\$0.00	100,00%	138,584.20		138,584,20	0.00	138,584.20	108,100	0.000	108.1	\$138,584.20	\$1,282.00	108.1	DING T CY	CLASS II (BRIUGE DECK) CONCRETE FOR BRIDGE DECK INCLUDING	47.004
	\$0.00	100.00%	46,486.80		48,468.80	0.00	45,458,80	1000,000	0.000	1008	340,400.00	340.10	DOD,	+	SCHOOL COTTE L LOCATION	0.04
	\$0.00	100.00%	21,714.00		21,714,00	0.00	21,/14,00	147,000	0,000	141	10,719,00	L	*	1	ALL MINNEY BY IN THE PARTY OF T	200
	\$0.00	100.00%	26,226.00		26,226.00	0.00	28,228.00	141,000	0.0000	163	\$26,226,00	3786.00	141	- F	CONCRETE TOWNS ONLING BANKER (32 VEX) WALL STAFF)	201 8 42
	\$0.00	100.00%	201,597.90		201,597.90	578.07	201,021.83	584,700	1,613841	563.08635854	\$201,597.90	L	564.7	5 5	FLORIDA-136 BEAM (BO-BT LONG)	150 2 38
															SUPERSTRUCTURE	
	\$0.00	100,00%	236,917.00		236,917.00	0.00	236,917.00	1.000000	0.000000	1.000000	\$236,917.00	\$236,917.00	1	S1	MOBILIZATION INCLUDING TURBIDITY BARRIER	105 1
														-		
	900,000	-	1,000,000											-	Structures Work	
333	SD COL		1 849 800 73		1 648 800 77	-14 591 97	1 663 281 09				\$1,648,699,23			-	Road Work Total:	Ì
	90.00	100.00%	3,/64./0		3,709.70	0.00	3,704,70	O.AOUUUCA.O	0.000	0.45	99,704.70	90,000,00	0.40	700,0	The state of the s	100
	\$0.00	100.00%	5,018,80		0,018.00	0.00	OD BLOC	O COOCOO	0.00	0.6	92,018,00	90,300,00	T	4	1	741 48 201
	\$0.00	100.00%	630.00		630.00	0.00	630.00	8.0000000	0,000	8	\$630,00	\$105.00	t	┿	⊥	11 14 170
	\$0.00	100.00%	1,404,00		1,404.00	0.00	1,404,00	8.0000000	0.000		\$1,404.00	\$234,00	T	₽	L	71 14 100
	\$0.00	100.00%	198.00		186,00	0.00	198.00	2,0000000	0.000	2	\$196.00	\$98.00	2	5	THERMOPLASTIC	711 11 170
	\$0.00	100.00%	196.00		196.00	0.00	198.00	2,0000000	0.000	2	\$196.00	\$98.00		ĒA	L	711 11 160
	\$0.00	100,00%	278.40		278.40	0.00	278.40	0.0010000	0.0000	0.081	\$278.40	8	0.081	г		11 11 1/
	\$0.00	100,00%	496.00		495.00	0.00	495,00	60.0000000	0,000	80	\$495.00	\$8.25	80	NE AND LF	ш	711 11 125
10.30-0.00	FNISH	COMPLETE		Installed Accounts)	TODATE	ESTMATE	ESTRATE	TODATE	ESTIMATE	ESTRATE	-	* 1000		4.		
1% - contact	BALANCE	PERCENT	COMPLETED &	STORED	1	T. Com		10101	1000	N IONAGG	1024	UNIT	AMANAMIC	- 2	DESCRIPTION	5
	_	_		CONTRACTOR ATTACABLE		THE PERSON NAMED AND ADDRESS OF THE PERSON NAMED IN COLUMN NAM										Allego

708-3	0000	Ш	337-7-83	- G		120-1	1	CO#8			CO#7				COMB	9-77C	200	CO#5	110-7-010	1	522-2	П	COM	3		CO#3						CO#2					00#1				715 500 1	715 7 11	715-4 11		Activity	
Reflective Payement Markers, Y/Y	Additional Pavement Markings	A SAME A SAME AS A SAME A S	Auch Conc Eriction Course 1.5"	Structural Applied 3*	Upi. base Group 4, 6' Limerock	Excevation Regular		Added Bike Lane	The state of the s	Reinforced Foundation	Added Reinforced Foundation		Removal of Temporary Handrali	Installation of Tamporary Hondrall	Temporary Wooden Handrali	ORDEW BIK, O	200	Added Sidewalk	redestrary bicycle Railing, Aummum, 427, type 1	Added Reinforced Foundation - For Alum, Railing	Sidewall, 6"	Removal of Existing Sidewalk	Sidewalk & Aluminum Railing Modifications		Added Conduit for Future Sign Lighting	Added Sign Lighting Conduit		Stabilizer & Limenock - Added Costs to Dump & Spread	Riprap - Hoist Across Canal	Mse Wall Materials - Loed & Holst Across Cenal	Embankment - Load & Holst Across Canal	Added Cost Due to Not Crossing 8-169	Cash	Coordination & Bond	Added Panel Casting Charge	Special Form Liner	Added MSE Panels w/ Bass Deco	Charrige Order Work	CREGINAL CONTRACT TOTAL:	Lighting Work Total:	POLE CABLE DISTRIBUTION SYSTEM, CONVENTIONAL	LOAD CENTER, F&I, SECONDARY VOLTAGE	STANDARD FOUNDATION, 30' MOUNTING HEIGHT		DESCRIPTION	
2		1	2 2	SY	SY	ςγ			-				5 5	-		SY			ç	Fi	SY	ΥS	+		LS	_		5 E	LS.	હ	<u>ه</u>		מחר	6	SF	SJ.					5	Ē	Ę	4	- z	- -
3			14,10	67.19	62.19	25.91			8	5			8 8			3.45			98.5	23	43.4	24						-	_	-	-		=	-	1000	-			The state of the s		6	-	6		QUANTITY	
25 14		96000	P3 8903	\$11.35	\$10,16	\$17.93			20.721.0	6423			\$5.98	200		\$83,66			\$134.74	\$148.36	\$83.68	\$32,13			\$3,851.00			00.00/ve	\$2,550.00	\$15,138.00	\$56,510,00		97/0/20	\$2,285.00	\$0.63	\$19,364.00			THE DESIGNATION OF THE PERSON		\$419.00		\$15,538.00		PRICE	CONTRACT
\$100 ts		20.710.14	26.246.64	\$705.86	\$631.85	\$464.57			90,000,000	e3 597 65			\$953.60	-		\$288.63			\$13,002.41	\$7,863.08	\$3,630,84	\$771.12			\$3,861.00		41.01		\$2,550.00		358.510.00		\$1,838.75						\$4,151,578.37	\$156,429.04	\$2,514.00	\$4,064.00	\$83,228.00		TOTAL	AC.
9700		3.00	14,1500	62.19	82.19	25.91			90.00	3			180.00			3.45			98.50	53,00	43.40	24.00	-		1.00				1.00		100		11.00		1.00	1.00			STATE OF LAW A		G)	-		ESTMATE	PREVIOUS	/ CMI
3		0.00	0.00	0.00	0.00	0.00			0.00				0.00	3		0.00			0.00	0.00	0.00	0.00			0.00			0.00	0.00	0.00	000		0.00	0.00	0.00	0.00			All SOLD IN SOLD IN		0.000	0.000	0.0000	ESTMATE	THE	INSTALLED GUANTITIES
77		3.80	14.15	62 19	62.19	25.91			30.00	3			180.00			3.45			96,50	53.00	43.40	24.00			1.8			38	1.00	1.80	1.80		11.00	1.00	1,000.00	1.00					6.000	1.000	6.000	TODATE	TOTAL	E C
200		1,012.65	9,942,82	705.86	631.85	484.57			3,007.00				3,040,00			286.63			13,002.41	7,863.08	3,630.84	771.12			3,861.00		2,070.00	7,700.00	2,550.00	15,138.00	58 510 00		1,938,75	2,285.00	830.00	19,384.00			\$4,182,059.48	156,429.04	2,514.00	4,084,00	83,228.00	ESTRATE	_	
		0.00	0.08	0.00	0.00	0.00		-	0.00				0.00			0.00			0.00	0.00	0.00	0.00			0.00				0.00				0.00	0.00	0.00	0.00			-\$30,481 10	0.00		000	0.00	ESTMATE	THIS	ING I ALLED AMOUNTS
		1,012.85	9,942,92	705.86	631.85	464.57			00.789);			900,000	3,040.00			288.63			13,002,41	7,863.08	3,630.84	771.12			3,861.00		4,070.00	7,700.00	2,550.00	15, 138,00	58 510 00		1,938.75	2,285.00	630.00	19,364.00			\$4,151,578.37	156,429.04	2,514.00	4,084.00	83,228.00	TODATE		3
																																							65,000 at 107 a					installed Amounts)	STORED	MATERIALS
		1,012.85	9,942.82	705.86	631.86	484.57			3,687,60			900,000	3,040.00			288.63			13,002.41	7,863.06	3,630,84	771.12			3,881,00		7,010,00	7,700.00	2,550.00	16,138,00	00.015.00		1,938.75	2,285.00	630.00	19,364.00			\$4,151,578.37	156,429,04	2,514.00	4,084.00	83,228.00	TODATE	COMPLETED &	TOTAL
		100.00%	700.00%	100.00%	100,00%	100.00%		+	100.00%			100.0079	100.00%			100.00%		-	100.00%	100.00%	100.00%	100.00%			100.00%		100.0078	100.00%	100.00%	100.00%	AND OUR		100.00%	100.00%	100.00%	100.00%					100.00%	100.00%	100.00%	COMPLETE	PERCENT	
		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00			\$0.00			90.00	\$0.00			\$0.00			\$0,00	\$0.00	\$0.00	\$0.00			\$0.00		90.00	\$0.00	\$0.00	\$0.00	808		\$0.00	\$0.00	\$0.00	\$0.00			\$0.00	0.00	\$0.00	\$0.00	\$0.00	FRMSH	BALANCE	
																																							The same	30.00					1% - contract	RETAINA

\$0.00		\$587,910.08		\$587,910.08	\$108,228.70	\$479,681.36				\$567,910,08				Change Order Total:	
	100.00%	44,697.92		44,697.92	44,697.92	0.00	1.0000	1.0000	0.00	\$44,697.92	\$44,697.92	-	હ	Final Close-Out Change Order	CO#18
\$0.00	100.00%	54,370,16		54,370.16	0.00	54,370.16	1.0000	0.0000	1.00	\$54,370.16	\$54,370,16	-	8	Agged Parking Lot Drainage	CORPO
\$0.00	100.00%	9,025.71		9,025.71	0.00	8,020,71	1.0000	0.000		90,060,1	90,000,77				
\$0.00	100,00%	15,121.83		15,121,83	0.00	15,121.83	1.000	0.000	1.00	@0.025.74	\$9.005.71		5 0	Additional Costs For Owner Selected Sign Lighting Fixtures	8
\$0.00	100,00%	1,680.00		1,690.00	0.00	1,000,00	1.0000	0.0000	1.00	\$1,690.00	\$1,000.00	-	0 60	Existing Ashah Darking of Sansing	00414
40.00	190,000	00:310		o initial											3
on the	1000.000	90,000,1		81280			17,0000	0.0000		\$812.60	\$47.80	17	ξĀ	Parking Bumpers, Relocate Existing	
30.00	400.00F	W. 500 50		4 600 60	000		557 0000	0.000		\$1,598,59	\$2.87	657	5	Striping, Paint	
\$0.00	100.00%	00.001,7		26,100,00			500 000	-147 898300	647.6	\$28,440,00	\$62.88	500	SY	Structural Asphalt, 3", SP-12.5	
\$0.00	100.00%	7,500.00		7,000,00		0,004.40	500,000	45,000		\$7,100,00	\$14.20	500	ΥS	Limerock, 8"	
90.00	100,000	0,000,00		C7.00010			5000000	2000	454.00	\$7,560,00	\$15.12	500	YS	Stabilization, Type B	
90.00	900.UO	00.0007		2,000,00		I	319 5000	36,5000		\$6,886.23	271.26	319.5	হ	Excavation	
90.00	WOO'NO!	350.00		3000.00	000	T	1 0000	0000	8	00.896.03	22 988 00	-	5	Clearing & Grubbing	
\$0.00	100.00%	7,172.00		002717		I	4,0000	1,0000		000000	00.6503		F !	Intet Protection System	
\$0.00	100.00%	4,000.00		4,000.00			4,000	4,000		67 472 00	20,000,12		P C	Sign Lighting Conduit Wiring Switches Misco	
\$0.00	100,00%	89,916,00		00'016'68	04/		4,000	7 (2000	10.01	00.010,000	\$1,000,00		2 9	Sign Light Figures (Allowance)	
\$0.00	100,00%	2,478.00		2,478,00			1.0000	2 40000		800.010.00	22 DZ DZ DZ		n i	Cost Ahminum Sinns	
\$0.00	100.00%	702.00		202,00	0.00	T	40000	0.0000	40.00	00.207 CB	100 BCV CS	T		Removal of Existing Striping (# Sequined)	
\$0.00	4600'00'L	110,00		100.00		T	20000	0.0000	200.00	8707 80	P. 745	ò	- I	Reflective Payement Markers	
00,00	400.000	170.00		110.00		T	1000	00000		\$11500	\$115.00		Ţ.	Thermoplastic, Std., Arrows, Left/Right	
90,00	100.00%	1,183.28		A7'CRI''			1000	0.000		\$115M	\$115.00		F .	Thermoplastic.Std. Message or Symbol	
an ou	100,000	RI 06/7		R1 704/17			0.1020	0,000	0 2	97 103 20	\$15,580,00	0.4817	2	Thermoolestic Std. White Solid 6"	
80.00	100,000	200.76		27.040		T	0.000	0000		\$2740 19	\$15,058,00	0.183	C C	Thermoplastic, Std., Yellow, Solid 6"	
\$0.00	100,00%	200,885		CO 1607	200.000 UU.802	T	90,000	COCOUNC		ST ODCS	25.05	1 2	5	Thermoplastic Std. White 12" Yield Bar	
\$0,00	100.00%	161.40		181,40			10,000	70.000		06.1016	95.20	ŝ	77 (Thermoolestic Strl White 12" Consewalk	1
\$0,00	100.00%	124.75		124.76			0,000	25000	1.00	9129.70	90.75	1	n 9	Thermodestic Strl White 24" Shop Rec	
\$0.00	100.00%	4,885.25		4,865.25			0000.80	u uuuu		34,000,00	37 7016		2 2	Parking Rumpers F&I New Pernand During Demonst	
\$0.00	100.00%	1,378.64		1,378,64			0.0000	0.0000	Ī	97,376,09	OF 704	3 5	2 5	Darking Burnoon E8 Name	l
\$0.00	100.00%	4,378.54		4,376.54		Γ	301.000	0.0000		34,370.34	90.00 E		2 4	Shiring Directional Access Count	
\$0.00	100.00%	1,884.60		1,684.60		Ī	000,000	0.0000	l	00.000,16	70.76	300	5 5	Striction Metchart Annae Daint	ŀ
\$0.00	100.00%	29,170,68		28,170,68	0.00		Г	0,000	į,	92,170.00	82.07	10100	5 5	Shipho Dethe Melice Delote	
\$0.00	100.00%	49,685.00		49,665,00			10,000,000	0.0000		90,000,000	307	10000	1 5	Stringer Paint	ŀ
\$0,00	100.00%	1,387,00		1,387,00			Ţ	0.0000	200	940,000,00	87.00	name:	2 8	Sections	
90.00	WOO.001	2,300,00		2,380,00	2,3	4 000 00		0000	4 00	84 207 00	\$4 297 00		7 1	Surveying & Linuxy	
\$0.00	100.00%	3,197.00		3,197,00		Ī				90,101,00	90,100,00		, 8	Askidha	
\$0.00	100.00%	1,974.50		1,974,50			20	,	9	91,074,00	90,00			Totting & Ortality Control	
\$0.00	100.00%	2,390.00		2,380.00		2		I		22,300.00	92,380,00	REAL	3 8	Stokad Sill Favora	1
\$0.00	100,00%	61,081.00		61,081.00	0.00	61,081.00				\$81,081.00	100,000	-	5 8	Meintenance of Traffic	
													-		
													+	Optional Parking Lot Work & Striping Work	CC#12
														L	
\$0.00	100.00%	3,987,56		3,867,58	0.00	3,867.68	1.00	0.0000	1.00	\$3,987.56	\$3,987.56	-	ટા	Remove & Stockpile Fence & Gate	CO#11
90,00	1	-7,432,48		06.700',1-			- 147	0000	100.00	-01,000,10	471		+	4	
\$0.00	1	-14,100.00		14,100,00		-14	I			97.000.00	C47 R4	147		5 COMPUT FURMISH & INSTALL SRIPES MOUNT	830-2-15
\$0.00	100.00%	-22,680.00		-22,660,00	0.00	-22,000.00	-180,00	0.00	-100.00	922,000.00	00.0016	200	n 5	DSD-31-104 (4° PVC CONDUIT	5031
							Ī			2000000	2000	3			5 PE 39
													+	Deduct Unused Quantities/Pay items	00#10
dayada													H		
80.00	100.00%	-58 43		-58.43	0.00	-58.43			-0.0170	\$58.43	\$3,437.00	Ħ	GM	41 Thermo, Standard, 2-4 Dotted Guidellnes	711-11-141
60.06	470 MM	00 USW		503 90			0.0710			\$593,99	\$8,366,00	7	GM		711-16-201
90,00	400.000	W. Co.		27 OBP				000	0	\$460.13	\$8,386.00	0.065	CI.	01 Thermo.Standard, Other Surface, White, 6"	711-18-101
90.00	100.007	W Ple		UU Pr.c						\$234,00	\$234.00	-	5	70 Thermo.Preformed, White, Arrow, Bilke, Thru	11-14-
On the	100.00%	97.70		234.00			1.00	0.00	1.00	\$234.00	\$234.00		E I	60 Thermo, Preformed, White, Bike	711-14-160
THE HOLD	100,000	10,000	Constitution transmission	27.72	1					\$57.75	\$8.25	1	5	25 Thermo, Standard White, Solid, 24"	-
TO 19% - C.O's	(%)	STORED	(NTC Math	TOTAL	THIS	PREVIOUS	TODATE	THIS	PREVIOUS	TOTAL	PROCE	AULAND	 :	DESCRIPTION	5
_		TOTAL	MATERIALS	STA	INSTALLED AMOUNTS		THES	NSTALLED QUANTITIES	INS	1.5	CONTRACT		zc		AHO

PROJECT TO			ACTIVITY	
TAL.		ON	~	
	-	- 04	z	-
SAL MARK	+	MALLANTICA		
COMPANIES OF SPRING		PROE	COOT	CONTRACT
\$4,739,488.45		TOTAL		ACT
WASHINGTON .	ESTRATE	PREVIOUS		SNI
STREET, SQUARE,	ESTIMATE	SHI		INSTALLED QUANTITIES
Physical Colors	TODATE	TOTAL		THES
\$4,661,740.83	ESTIMATE	PREVIOUS		
\$77,747,59	ESTMATE	SIHT		INSTALLED AMOUNTS
\$4,739,488.45	TODATE	TOTAL		178
\$0.00	Installed Amounts)	(NTC MITH	STORED	MATERIALS
\$4,739,488,45	TODATE	STORED	COMPLETED &	TOTAL
THE REAL PROPERTY.	COMPLETE	3	PERCENT	
20.00	FINISH	70	BALANCE	
THE PASSAGE		10% - C.O's	1%-coota	RET ADVAG

CITY OF CLEWISTON

RESOLUTION NO. 2025-09

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF CLEWISTON, FLORIDA, APPROVING ZEP CONSTRUCTION, INC. CHANGE ORDER NO. 15 FOR FEES AND ADDITIONAL CONSTRUCTION RELATED SERVICES TO COMPLETE PROJECT DETAILS NOT INCLUDED IN THE ORIGINAL SCOPE BUT NECESSARY TO ADDRESS SPECIFIC NEEDS FOR THE BRIDGE OVER C-21 CANAL PROJECT; AUTHORIZING THE APPRORIATE CITY OFFICIALS TO EXECUTE THE AGREEMENT; PROVIDING FOR SEVERABILITY, CONFLICT, AND EFFECTIVE DATE.

WHEREAS, the City of Clewiston ("City") issued Bid No. 2022-01 for construction services in connection with the Bridge Over C-21 Canal, Clewiston, Florida; and

WHEREAS, the contract for construction services in connection with the Bridge Over C-21 Canal Project was awarded to Zep Construction, Inc. on March 21, 2022; and

WHEREAS, Change Order NO. 1 for additional construction related services for the creation, manufacturing, and installation of decorative MSE wall panels to be utilized in the bridge construction was approved on May 16, 2022; and

WHEREAS, Change Order No. 2 for additional construction related services to hoist equipment and material with crane across the C-21 Canal was approved on February 20, 2023; and

WHEREAS, Change Order No.3 for additional construction related services to provide a route for bringing electricity for the lighting of future signage on the MSE wall was approved on August 21, 2023; and

WHEREAS, Change Order Nos. 4-11 for fees for construction related services originally approved spent on items requested through the City Manager approved on February 19, 2024; and

WHEREAS, Change Order No. 12 for fees for additional construction related services for additional existing parking lot modifications to maximize parking lot spaces and update the traffic flow was approved on April 29, 2024

WHEREAS, Change Order No. 13 for a time extension of 16 weeks total (including 73 weather days) due to material lead times for the sign and lighting was approved on August 19, 2024; and

WHEREAS, Change Order No. 14 is necessary for fees for additional construction related services for handrail repair, asphalt repair and light fixtures and for a contract time extension of 30 weeks to procure the approved signs.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF CLEWISTON, FLORIDA, that:

SECTION 1. Zep Construction, Inc. Change Order No. 15 is approved.

EXHIBIT A

Proposal

From: Zep Construction, Inc. 7802 Jean Blvd Fort Myers, FL 33967 Phone: 239-267-8778 Fax: 239-267-7907

Project: Description

HENDRY C-21 ADDED DRAINAGE

TOTAL BID:

\$54,370.16

ITEM / DESCRIPTION	BID QTY	U/M	AMOUNT
1 MOBILIZATION, MOT, AS-BUILTS	1.000	LS	
2 SAWCUT ASPHALT	1.000	LS	
3 TYPE X INLETS	3,000	EA	
4 8" SDR 26 PVC PIPE	242 000	LF	
5 LIMEROCK BASE, 8"	1 000	LS	
6 ASPHALT, 3", S-3	1 000	LS	

BID NOTES

Mobilization price includes testing, maintenance of traffic, and as-builts.
 It wall take approximately 4 weeks to have the type X inlets fabricated, after shop drawing approval
 Additional time will be needed to complete this corrective work.
 Price is based on information provided by EOR on 11-7-24, except that another inlet was added and associated pipe
 Price is valid for 2 weeks.

Zep Construction, Inc.

CHANGE ORDER

DATE OF ISSUANCE September 9, 2025	EFFECTIVE DATE
OWNER City of Clewiston CONTRACTOR Zep Construction, Inc. Contract Bridge Over C-21 Canal Project: Bridge Over C-21 Canal - FPN 44584 OWNER'S Contract No.: G1L00	3 54 0 CONTRACTOR's Contract No.:
You are directed to make the following changes in the Con Description: Adding \$ 44,697.92 to contract	t.
Canal. CONTRACTOR's proposal is attached as Exhibit A.	
Cost proposal submitted by Zep Construction, Inc.	to perform the above-mentioned work.
CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:
Original Contract Price \$ 4,151,578.37	Original Contract Times: Substantial Completion: Ready for final payment: \$11
Net Increase from previous Change Orders No. 01 to 15 : \$ 543,212.16	(days or dates) Net Change from Previous Change Order No. 01 to No. 15 : Substantial Completion: 572 Ready for final payment: 572 (days)
Contract Price prior to this Change Order: \$ _4,694,790.53	Contract Times prior to this Change Order: Substantial Completion: Ready for final payment: 1083 (days or dates)
Net increase (decrease) of this Change Order: \$ 44,697.92	Net increase (decrease) this Change Order: Substantial Completion: Ready for final payment: 92 (days)
Contract Price with all approved Change Orders: \$ 4,739,488.45	Contract Times with all approved Change Order: Substantial Completion: 1145 Ready for final payment: 1175 (days or dates)
RECOMMENDED: ZEP CONSTRUCTION, INC. By: By: By:	APPROVED: CITY OF CLEWISTON
CONTRACTOR	zed Signature) (Authorized Signature) /illiams, James Pittman, City Mayor

EXHIBIT A

Change Order # 16 Over and Underruns from Original Contract Work and Previous change Orders and Additional Bridge Joint Treatments

Over and Under Runs form Original Contract Work (+/-)

Activity ID	Activity Description	Unit	Over / Under Run	Unit Price	Total
104 10 3	SEDIMENT BARRIER (STAKED BILT FENCE) ADD	LF	180	82.10	\$336,00
180 4	STABILIZATION, TYPE B DEDUCT	BY	-957	\$11.35	-\$10,863.09
285 708	OPTIONAL BASE GROUP 6 (8") (LIMEROCK)	SY	-756	810.76	-\$8,124.68
334 1 13	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C (3")	TN	35,58	\$231,90	\$8,251.00
337 7 83	ASPHALTIC CONCRETE FRICTION COURSE, TRAFFIC C, FC12.5, PG 78-22 (1.5")	TN	14.45	\$208,54	\$3,851.50
339-1	MISCELLANEOUS ASPHALT PAVEMENT (GUARDRAEL) 2" THICK	TN	0.51	\$730,28	\$372.43
430 176 118	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 18", SICD	LF	8	369.64	\$717.12
430 982 125	MITERED END SECTION, OPTIONAL ROUND, 18°CD	EA	2	\$2,152,00	\$4,304.00
530 3 4	RIPRAP, RUBBLE, F&I, DITCH LINING (1.5" THICK)	TN	53.77	\$179.28	\$9,639.89
530 5 11	GABION, MATTRESS LESS THAN 1 FOOT THINCKNESS (MARINE MATTRESS)	SY	40	\$231.50	89,260.00
570 1 2	PERFORMANCE TURF SOD	SY	-1.086	\$2.93	-\$3,182,33
450 2 38	FLORIDA-I 38 BEAM (80'-8" LONG)	UF.	-1,614	\$357.00	-\$5,162,33
530 3 4	RIPRAP ROCK RUBBLE	TN	124,83	\$90.00	
530 74	BEDDING STONE	TN	-174.2	\$96.00	\$11,234.70
548 12	RETAINING WALL SYSTEM, PERMANENT (MSE WALL)	SF	485.83		-\$16,723.20
		- OF	793.63	\$45.25	\$21,983.81

Over and Under Runs CO#12 Work (+/-)

Activity (D	Activity Description	Unit	Over / Under Run	Unit Price	Total
	Optional Parking Lot Work & Striping Work				
	Staked Silt Fence	LF	-400	\$3.59	-\$1,436.00
	As-Builts	LS	-1	\$2,390.00	
	Thermoplastic, Std., White, 24" Stop Bar	UF	-15	\$10,76	-\$181.40
	Thermoplastic, Std., White, 12" Crosswalk	LF	-50	\$5.38	-\$269.00
	Thermoplastic, Std., White, 12" Yield Bar	LF	-14	\$14.34	-\$200.76
	Removal of Existing Striping (If Requiredf)	TRIP	-1	\$2,478.00	
	Inlet Protection System	ÉA	-1	\$359.00	
	Excavation	CY	-35.5	\$21.55	
	Stabilization, Type B	SY	-48		-\$785.03
	Limerock, 8°	SY	-46	\$15.12	-\$695.52
	Structural Asphalt, 3", SP-12.5	87	147 870	\$14.20 862.88	

Additional Bridge Joint Treatments

Activity ID	Activity Description	Unit	Over / Under Run	Unit Price	Total
458-1-12	BRIDGE DECK EXPANSION JOINT - NEW CONSTRUCTION - Fall POURED JOINT WITH BACKER ROD	LF	419	\$32.81	\$13,747.39
1-10-1-12	SEAL CRACKS IN ASPHALT	UF.	84	\$21.94	\$2,057.97

Final Change Order #16 \$44,697.92

CITY OF CLEWISTON

RESOLUTION NO. 2025-45

A RESOLUTION OF THE CITY COMMISSION OF THE CITY OF CLEWISTON, FLORIDA, APPROVING FINAL PAYMENT IN THE AMOUNT OF \$129,263.93 TO ZEP CONSTRUCTION, INC. FOR THE BRIDGE OVER C-21 CANAL PROJECT; AUTHORIZING THE APPRORIATE CITY OFFICIALS TO EXECUTE THE AGREEMENT; PROVIDING FOR SEVERABILITY, CONFLICT, AND EFFECTIVE DATE.

WHEREAS, the City of Clewiston ("City") awarded the Contract for the construction of the Bridge over the C-21 Canal to Zep Construction, Inc.; and

WHEREAS, the contractor, Zep Construction, Inc. has completed the project, and is requesting final payment in the amount of \$129,263.93

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COMMISSION OF THE CITY OF CLEWISTON, FLORIDA, THAT:

<u>Section 1</u>. The Application and Certification of Payment number twenty one for final payment for the Bridge over the C-21 Construction Project is approved contingent upon receipt of the contractor's release of lien. The City Commission of the City of Clewiston approves the change order number sixteen and authorizes the appropriate City Officials to execute the same.

<u>Section 2</u>. If any clause, section, other part, or application of this Resolution is held by any court of competent jurisdiction to be unconstitutional or invalid, in part or application, it shall not affect the validity of the remaining portions or applications of this Resolution.

Commissioner	offered	the fo	oregoing	resolution.	
Commissioner	secondec		motion	and upon	
being put to a vote, the vote was as follows:	•			_	
		Aye	Nay	Absent	
JAMES PITTMAN, MAYOR					
HILLARY HYSLOPE, VICE MAYOR					
BARBARA EDMONDS, COMMISSIONE	ER				
MALI GARDNER, COMMISSIONER					
JAMES WILLIAMS, COMMISSIONER					

Resolution No. 2025-45	
PASSED AND APPROVED by the this day of, 2025.	City Commission of the City of Clewiston
ATTEST:	CITY OF CLEWISTON, FLORIDA
Fransheska Berrios, City Clerk	James Pittman, Mayor
(MUNICIPAL SEAL)	
APPROVED AS TO FORM AND LEGAL SUFFICIENCY	

By: _____ Kaylee Tuck, City Attorney

THIS PAGE IS LEFT BLANK INTENTIONALLY